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1) Choose the correctly spelt word....

1)
Liesure

v 2)
Leisure

3)
Leasure

4)
Lesire

4 - Out of the given options, the only option that is a proper word with
meaning is Leisure.

Leisure: The time when one is not working or occupied or free time.
Example: One of Jesse's favourite leisure activities is swimming. Hence we
find that the only option that is correctly spelt is Option 3 Leisure and
therefore the correct answer.

2) The synonym of 'Amicable’ is-
1)

Interesting

2)
Loving

3)
Affectionate

v 4)
Friendly

I : The synonym of "amicable" is "friendly." The term "amicable" is often
used to describe a relationship or a situation that is characterized by



goodwill, harmony, and a lack of hostility. A person or a group of people who
are amicable are generally considered to be easy to get along with,
cooperative, and willing to compromise. The term is often used in the context
of resolving disputes, negotiating agreements, or maintaining cordial
relationships with others. Some other synonyms of "amicable" include
"cordial," "peaceful," "congenial," "harmonious," and "agreeable."
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6) | know him. Change it into passive voice.

1)
He is known by me

2)
He was known to me

3)
He has been known by me

v 4)
He is known to me

4T : The Active Voice describes a sentence where the subject performs the
action stated by the verb. While in the Passive Voice subject is acted upon by
the verb.

The structure of active voice = Subject + Verb + Object

The structure of passive Voice = Object (Nominative Case) + helping verb +



verb (3rd form) + by + Subject Rules of Conversion from Active to Passive
Voice:

Identify the subject, the verb, and the object

Change the object into subject

The active verb does not have an object. Therefore, the passive form should
begin with you.

Change the verb into past participle of the verb

Change the subject into object

NOTE: The word 'known' takes a fixed preposition 'to".

The given passive voice is, | know him.

Thus the passive voice will be, 'He is known to me.’

7) Rishan walks as if he.....lame.

had been

3)
has

v 4)
were
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| O as if T I be verb - W3 past form 31 57 were 21 13 () - 3 Correct
answer |

8)
The antonym of 'Hate'------

v 1)
Admire

2)
Abhor

3)
Concern



4)
Loathe
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13) 'Improvement' means -----
1)

Promotion

2)
Advancement

v 3)
Betterment

4)
Preference



A : The term “improvement” generally refers to the act of making
something better or enhancing its quality or condition. It can refer to various
types of positive changes, such as:

Enhancing the quality of something, such as improving the performance of a
product or service.

Increasing the efficiency or effectiveness of a process or system, such as
improving the productivity of a workforce.

Upgrading the condition or appearance of something, such as renovating a
building or improving the landscaping of a property.

Developing or acquiring new skills or knowledge, such as improving one's
language proficiency or acquiring a new certification.

Enhancing personal qualities or characteristics, such as improving one's
communication skills, confidence, or emotional intelligence.

Overall, the term "improvement" implies a positive change that makes
something better than it was before.

14) “To put the cart before the horse” means -

1
2
3
v 4

to offer a person what he cannot eat
to raise obstacle

to force a person to do something

to reverse the natural order of things

N— N N N

AT : (TNOT TS BT | STTRACP (IROT WIS J1R(1- HIed %2 proper order 5% a1 713
Put the cart before the horse = reverse the proper order or procedure of
something.

Source: Oxford Dictionary

15) SIT2STO3! IR FAISCH PoiL ORI 5T AR ?

v 1)
8



TN 2 3G Y9 TS 75 FA GOTR TTOR 2ffow \3 [ifoq Sarsita (o) A0 IR
SR PR ST FTEFS THER B TR O | 2GS IR MG W] SIS X \3
T AR 13 ST YIRS 252107 \3 5 BT Te>IfD e pom mof aed =

16)a + b =7 & a2 + b2 = 25 X {467 @D ab A7 T XI?

v 1)
12

2)
10

3)
6

4)
None of them

ST ENZ, a+b=7
a?+b?=25
TN G, a2 + b2 = (a + b)2- 2ab
25 =72- 2ab

;25 =49-2ab

2ab = 49 - 25
2ab =24
ab =24/2
ab =12
17) RIF 419 ForeE) Bomia?
1)
orar 3 o
v 2)
OTHT \3 73T

3)



T \3 faca

4)
OraT \3 vy

AT : STRPI TG TR B AT 227 - T \3 7JT |
TR OCOTIRIP SR S50 ST \3 WIasig D3 w1 (F 512PF TQ AT | P 419 PRoce
BT 2T OTAT \3 73T | e \3 o d kg @16 31 1571 290 31 =

18)
WEADG @[k I ARG PET?

v 1)
IUBIRIED

2)
e

3)
ooy for

4)
AT

I &

ARG @RS FGATHRE AMRER IE | ARG @RS @@ (Sr¥s D WIRA, Y00 - Fars
Y0 FBETH, Sbrdv) IFTE SIGR THNART, AP, ST I T for | f5H GrRarazs
ARSI e | fof IRmicns Reaw «fSiia ared sefterd | [Ramms 3= fefor o5t Q@reeTs
O3 HIfeT oreTd Sraiid, ARoDTAE T ST TArod 28 O il ofeTd “ffRao Fd
ORI 0eofb fSg fog (15T et IR Jeyy SR RATG 07 TIIATHIEE | Fo WsT B3 IR
o O 7RI T 5791 (e 26T AfowR Ty Qe T | BT WRS 0T 14, (@I
ARG P AR A I27 (@RS RFR A7 W 21 T |

19) f63 @A T A1 <Rfd?
1)

©

2)
o)



AT : @ K SHRCR TAT TOF! A0 2 dT OIP DT &K 0T | PSR AT I 2ATT
IR TN A T AT RIS IAT T, 5, B, ©, | S - A0 (19 T /i |

20) @Hefod #M11 § O @ [ge e
1)
IR

2)
GIRE

v 3)
I3

4)
WITR

7T ;3 2T BB (SR Ty AT AT (IPROD AT PRI 5794E fFZ01 (O
fte 21 | WA G TP @PRoP 1T (@ Prol -

GBI AR QI (RIPRGP G QI ICIPID YTOK @G (URTO OfD), YT AP | T4 AT
0T 21K 36 T I, TUA (SICEHGH 2TUAPR Ty B 745 ey e 07 W3R O1
TATP R3S A | {RTE I @S0 (0 (OIEhS faRgel I UL ORI J4)
e ernfzs Rgeox e sfac a1 e o

SOA1R, UBTD AR (SICHSR HIAT [AIg<T ST9Acof O fAge 1 @SEER \391[ faSPae | o
U TR (OIS AR O G4 51RO STAIGIMT, TR (SITS T I, AT STTo\3
BOB13 MG |

1¥d, RIS @GR \3 B Feraf fae QTS AT BT I - 03 JIS, IS BT 2 [CE-
RS 2MITT I —

13T @A (Electric Regulator) : 13 RSCAGISIAG MUK (SITHS I IR Telf T4
ISCAT AP | T TR (SICTS AT 2 ©Ud @I SO T \300 R RPQ SKIAR TR
PR AT 5TRO\3 ICH I | 75T Q7 T 21K (SIS BT 5176 B @ [ige w1 =, G
e 13 Q1Y - T8 TR0 FoMEiko T IR WA O 218, 13 @SCELEI T A
515 ST Rye 4k RO B0 a1 o3 50eT | e ARGV X0 IR P DI
515 P - QARR Y @SB T TP @R \3 T T B QPP AT 51 T8 @176, e



U] 2T QP3| ATPL P @A (Electronic Regulator) : U3 QAT MR
(OITS I IR Tlf oo s GRS AP AR (516 IR fAITT IR TR (SICHSH 3T 3T
fRITT T W 932 (OHOR WRATAN S ARRIGT IR IR 516 fogar w11 201 a3
JUAR I AT\ T, T 1T IS T 5T 51 B B RIS 2 | RIS

PG AP @XATABT AP @XEATABIR (P AT 80 X018 @ Rigrosmady | o3
HfICTE I AT 2N, WIPRGE 141 T 51600 BT f[Iye A5 GAAR I A T4 XTGP
AYELRA AARACE AL [P @SED INTD XA |

21) (@1 TP I3 APFAICO 7% G IIGTR?
1)
G RING

2)
NRIEGIE]

v 3)
@fad

4)
et

AT 2 ATFEANCO 5% SAIb 1400 [ AP SIKP I3 ARG | WoRACT oA Q3R
corf3¥a e adenRd (1fod “ffRene Q3L HRETS IIRIAGT ARNE FROT I |

22) QPTb TARGCHAA 7 A BT | TRGCHAD CFawet 1250 ISR TS 3 S 3572
1)
30 ™0

2)
40 f9oR

v 3)
50 Ao

4)
60 fAo

AT : 4R,
WRECHFAR 2% X AR 3 tiws 2X A=)



LI,

2X2 =1250
=> X2 =625
=> X =25

S = (2x25) f0K = 50 A0

23) T IR TR oo Kero 20?
1)
&l

v 2)
SeRPI

3)
ARG ITSd

4)
OIS

AT : TP TORGIAO eTHT ARGICSAR S NPT s SR 2TAFT AT ARG TS
TSI A STCER 2RO FT0T TR0 T TR QI NRPIRL TSI STCZ T STEIAT 2T 2R
2| 419 512 BHOl, FER AT, KT WP ATOT Q3R ARG I RG-S4 I0H IO
TR (19 SRS D - 3 FSTR A ANCE | AR 9 TSR X HRT 7 T I | 5RT @R R
- 8 STYTR 2T {19 SCZ 7SR WO G IR QI BT CHA Fid TSR (STROT T I I | S[-Tod
2{TOT HAK BT I (AP TR PHAT (R HC0T A8 T I | FTOR WP (=0 \3 5-F |
SO % 3398 20 11 HICOR T BN T SHOR Roaol ¢l & 2 ST JIR( HIR I
(5T | STCZ. @TSRTETIREN AT @R 61T IR |

24) @GN FF AT (I TS 27?2

1)
g3l



AT : (TG P SR b - I AN, 2050 ©OIaR 199 (6 Tgfdro 27|

O O

25) A GFAReTd (AP FoP I @R 20?2

1)
DIRIEIRY

2)
ISEIEIRY

3)
TIPS I

v 4)
J&d P

NN ; FORST “MT T3701 AP, ARG TUA 93 PHAE WO PR ©Ud QAT (AP T IGTT
51 20, WBR “ARET 03 Fpao 1 ST AT AW | RS CRT FIA07 (P 77 360 fdsfs
3 g Ty a3/ aeT3R% Jfdt (I @1 Fioe 300 fass

26) @1d IO IRBCEAR WGATO [ @1Ab T QP FHPITN (s aRFd S A2

1)
Y ¢ 8

v 2)
O .8 :¢

3)
53 b 8

4)
Y .8 .0
T :
A1 oS 28T/ <1,

o (TRTPH) A2 =(SR)A2+(FT)N2
¢ => @M =8N + 0



ST O, 8, ¢ AT AN fTos TP TS |

27) facs 1A Sk IR @ICT A Sru-59) SeT?

1)
Sb8a-YHID

2)
SHRR-YDIR

3)
SHRA-DHD

v 4)
8-

MY : AR PIRAT QI (AT DV, db84 - TGETRR v, Y95 e uded meiey
BAFINEP, ATIPH \3 ARG | Rofd GBI T RO (IO JIRACT) PTEAT (Gl
PHRUT BACTETR BT9M0T 26 foRICa- STIRATTST SICH SrisiRel R |

28) Find out the wrong sentence.
1)
Neither you nor | am in a sound position.

v 2)
Laziness is detrimental for success.

3)
He begged the favour of my granting him leave.

4)
Your action is not in conformity with the law.

I : Laziness is detrimental to success (correct sentence)
Being lazy is very detrimental to yourself because you will lose the
opportunity to produce something and develop yourself into a better person.
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33) Choose the correct word.

1)
Superceed

2)
Superseed

3)
Supercede
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Supersede

AT : The correct spelt word Supersede.
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34) A song embodying religious and sacred emotions.....

1)
Lyric

2)
Ode

v 3)
Hymn

4)
Ballad

I : One word substitute is Hymn.

Lyric: (of poetry) expressing the writer's emotions, usually briefly and in
stanzas or recognized forms. Ode: a lyric poem, typically one in the form of
an address to a particular subject, written in varied or irregular metre. Hymn:
a religious song or poem of praise to God or a god. Ballad: a poem or song
narrating a story in short stanzas. Traditional ballads are typically of unknown
authorship, having been passed on orally from one generation to the next.

35) QP FAAIRR “MeeT 0 20 FATR TRF AP BT 20 AR TERER Safs @19.30° &
IR0 Tol 307

1)
20v3 At

v 2)
20/V/3 bR

3)
20 fAoH

4)
10v3 0™
I -

SIS
mﬁm:Xﬁﬁﬁ



ad,

tan 30° = AB/BC
1/V3 = x/20

X = 20/V3

iR, fHaRIDI Owol = 20/4V/3 fHoR |

36)
A lion may be helped even by a little mouse. Change it into passive voice.

1)
A little mouse may even help a lion.

v 2)
Even a little mouse may help a lion.

3)
A little mouse can even help a lion.

4)
Even a little mouse outght to help a lion.
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46) 'To read Between the lines' means ----
1)

to continue

2)
to concentrate

3)
to suspect

v 4)
to grasp the hidden meaning



A : The phrase "to read between the lines" means to understand the
hidden or implied meaning in a text or a conversation, which is not explicitly
stated. It involves looking beyond the literal meaning of the words to infer
the intended message, to understand the underlying emotions, attitudes, or
motivations that the speaker or writer is trying to convey. This idiom is often
used to describe the act of interpreting subtext, context, or nonverbal cues in
communication.
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53) PRNETR (AP PPANBEIR B AMIAR ARG I 2 -
1)
33

2)
IR

v 3)
EYIEGIT

4)
Gferams

YT 2 STRCEAD T B 2 HRJT S TS (KRB @5 \3TREL T, T AR Y SIS
AP FRARSTR @O\STCET 5T | A6 TATRIR Ty SYG Q7L AT Sf#f 1
BBRAG AT IR AP AT IR LT BIOT M - 27T BT |

54) Reason is the highest faculty..... on human by their creator.
1)

Entrusted

2)
Endowed

v 3)
Bestowed

4)
Conferred



TN : entrust - RIS ZI9G F1 , endow - BT I1 579116 A1 341 ; bestow - 2F1d 3T,
confer - (YR 1 G 2MTd T | QAT 2GS ICPIK DAL FCY GFHG (1) - 3 ST | D13
(57) -3 correct answer |

55)
AR (Tsumami)PRILA

1)
LI @RI IEERWIEI)

2)
e

3)
5% \3 5YIC AT

v 4)
ST OO S

56) Focwd st eI U TR R

1)
nrfae

v 2)
ofm

3)
IR

4)
EMIRIGES

AN : Fored BT 2P UTTA RES OIGe *mARiEETl, sifaeim, Rrrorfee @ Reer -
R ST YRR TP | DI 07T *RPH AAod G DG “MIARIAITH Qded i@

ST 1 2 | 2P THFACGH LTS IS [ PIREAER O1iGP FRARPIOG SN @R AT
fecea|

57) Y - TP AT (TR BT 207?

1)
g3l



v 2)
AR

3)
frfer

4)
IR

T 2 DHYY HEH ¢ - Y (TFIR] IR CT FEIR IZAF TR R 7ot Q30 S0wed =3
7T AT CoPT A |

58) RPN AT oo foceda
1)
T P

v 2)
&Y ORI

3)
EAIRGIEIR

4)
(TSR TP

AT : IR 3 FATRIGTE T BB FoNs TR Aifawt = 1P | a1 Y90 5
FIE (U AU APIRG 2 | TANTCE PTS TGP ST SANG AT - vl aagst (3°d
STENP), LRPQ , ST | XTI QI \3 SFNEATY TG SFATHG 2ATIPT TP "1 \3 A"

59) ©, », \3 8 UK FQY FAIANOP FO?
1)

2)
8

3)
MO
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60) (T7] GRER P (BT F7?

AT+ (B GR (1S o7 11 (B3 QBT et w1 130 (07 SRk Tfdo ey
Q1511 QfSS TR ITRCG FGICH SR SREFNR o (U AR AR T A6 (B ORA
TSI G O | S5 1SET HIRN IR TR, AR, I, (IRI0G \3 SIS 5401 a3R STasc
THPIG | 73 (AP TS Ma- IR SRS (B3 @97 AT a1e I | 777 57 ovca @isifo
HRTHP IGHA 091 fAto A1 TP (B3] IGH11 O (B3], (AR IGP RPGIK) 7671 27 | 99 B
TFG 2, TF W5 I Tl I TR QR TG ATTAR fAe51 906 | (75 g oFca U@rT
(O3] X IO T (T O | (B3] X1 IO e I65 19 RoGedP el 30y IR |

61) 1.16 A3 SR AR PTAIL ?
1)
1 8/4s

2)
1

v 3)
1 4/2s

4)
1 16/99
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*1.16 = 116/100 = 29/25 =1 4/2s

62)
IS IR W [Feq 5Iiom i © 20 O HET?

1)
3009

v 2)
209

3)
YH0D

4)
SENU

I &

STom LT ©ET \3 SRR Wik fead | Snoa RREGTER SaraearoATdsR Zhersim XA [qoTe
ATEHRRIER SIS (AP A A SRER S | Ok 7mar 840 *mfiitie «ifnfa zram
LA 2T I SRR Q@sTE \3 GTRT (Y9OW) Al IR 307 298 G 210 = |

63) 1A RS SR FC 2 (151 FACT QISP HR, dbr IR 28 7K1 [Kersy T3

1)
b

v 2)
Qo

3)
0

4)
NN

AT : 3, Sb \3 38 IR TS = A3 |
QAP X Q5T FACO AT B3 2 RIS F00 77|
01 BBH T = (R-}) = 90



64) rg TGP P -
1)
RY Gd

2)
S W50

3)
NG|

v 4)
yo forsTea

AT+ FEATGPR sy Sufostecas faotar Reg s oo ofts 323 Yo forTsr «nfero 2|
SIESREAR SR AR FEF Yo FOTRR, S8t S (AT IS BRI FT | AZTONS,
RS Hqd WGP FRF TS AR IBIRCEH ACHT Q BIRAP Tk T | ARG HIad
WGP T 2T 27 RPIga 2RISR 5 ST ARG J38 TG |

65) IAAAC 'R O PIROT T BH IHO?
1)

WS
2)

THITS

3)
REgrae

v 4)
TARS

I : FARS 2F (FEIRS 1 RITALTT 77) IR 2005 A6eTo 2rd f5aft 2w aft | oy
7fD T ARYS T Q7L TWHRS 27 | ARG ZH @14 FROTAR FAR 8, ¢, Y, A AR LD
AN | ATRCRTR, > (IR, X ATHPAY 5 O B [CIFT , 8 ©5YA. ([RS8 » Fel oI 8, ¢, v A 4
Al R

66) TR M1 fogT PR @D ?

1)
P AR 21T



v 2)
offq 16

3)
SIS AL IS 4R T

4)
ARPROT I ATTT5T

AT : QK FRMFOT fage B M GT6 | S (ORI R /0 I A1 A1 Mg s «nfa @
I e GfS TR O SEPo1 I I |

67) The 'Liability' opposite word is-

1)
Treasurer

2)
Debt

v 3)
Assets

4)
Property

A : The opposite word of "liability" is "asset.”

Liability refers to something that a person or organization owes, usually a
debt or an obligation. On the other hand, an asset refers to something that
has value and is owned by a person or organization, such as property,
equipment, or investments. While liabilities represent debts or obligations
that need to be paid or fulfilled, assets represent resources that can be used
to generate income or create value.

68) ReRISIBIE TSI @I ?

v 1)
IR €

2)
ST T

3)
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4)
SATAICOTI

TN ; RS ITRESTa T4y ORI SIGICR QP TD FeVRIR0 A8 | - SKPTK T [P ASOF | 99
TOR ITSIABE, “[ ST, 7R 1951 \3 TIPS W3R #1508 SoRes | [P ed X2
GO ATSHTAT \3 J26H A |

69) 'To keep one's head.' means ----
1)
to save oneself

2)
to be self respectful

v 3)
to keep calm

4)
none of these.

4T : 'To keep one's head' idiom - 0% W T - FIAT STGT AT, T TG 14T |
Y01 53P B8 - To keep calm .

70) 'RP3 #RE I’ @1t ?
1)
¢

2)
Se ™

v 3)
¢ gd

4)
Se Td



M ; e IR A AT Sasibodol 38 A0H SIOSRY ¢ TA@ @I FERZ
‘g 1P Fasy 2w | 2020 S P9 2R Mk effSome et *erpfot &y 5T’ (Time

for Nature)|

71)
Find the wrong sentence in the following sentences.

1)
He has no desire for fame.

v 2)
| intend going to Rajshahi

3)
He is too miserly to part with his money.

4)
He has invited me for dinner.

72) Time after twilight and before night.......
1)
Evening

2)
Dawn

v 3)
Dusk

4)

Eclipse

1w : Twilight (¢TI - W9 *)k<S! BT night (J17A) - U 2[R STTT AT time - @ Dusk T
SRTI 2T AT | O3 (57) 3 H3P TG |

73) ISR IR O @I ?
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RS

v 2)



RpaeTTS

3)
AR

4)
ST

AT : BIA ARRAICH IIE AR A RS FNEGERSTT 0o RPAeTies” (SICsere S ofara
TSR AR O | TSR CSICSTITP BT fPf2l ST 07| IZTGT 3P G171 1 FETTSIRITH
CPNS TT = | SR (SIS BfaTs SR OPT \3 BIRBACoR (7| Y, 5,880 Isf Fbfa
OIRTed R Ricea 3203 3191 60 HAIERRT |

74) 'ATIGOA!" SICH SrSIRT PRA?
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TIFATH b0l

2)
TR TS 20

v 3)
XTTESI A1RATd

4)
CAfeTs W R

AT ; B XTI IR Sl 7Rl TIRPIR HZOR 11 AR ATARTNGCS | IR AT I
BTN \3 T CHAT @V | Cor9P MG A7 RIAT (ST ARIIFT AR TSRO SIICH | PR <M
AR DO T ©I3 - QIR T &eTd 8]

75) AT5IT BHRIT 7 TG aTe B1?
1)
KISKIR|

2)
SieAk |

3)
o
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SIR G|

AT 2 IR ATH I SAMSCEAR T KGR TE S | IR (TR “-FAT— 5 |
WRGE JATPI— eI, I, ICSRRT, (STATESTE, ADAT | (0 ATYA : 5T Y A57G)
ORE fEeT— PR \3 (FIAR FKIKO! BICd | SaoMIvd Je S foe— I6a1a If<mey coe |

76)
The horror movie scared them out of their.......

v 1)
wits

2)
Seats

3)
Lives

4)
Funds

77) AR STOR B @TATD ?

4)
oiCot

TR : TIOR T TIOR T I | TIRORI P AT ©ISTAIE, ST O8I X AT IR
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78) IR @GF oAfof DO ?

1)
Sbug S

2)
Sbrbr ST

3)
SHruY I

v 4)
Sbro0 S

T 2 Y0 A AOTH ARG 2 | WGP @G TH \3 {@G B QAT eI o
»a fAfeRIa EEIERY, 55w Q3L FHE 52 9B 0 TFGNMGP FARP AT T FIGE G Q3L
Y 51, 5] TG 21 a1 fAFeo 941, Q2 TR 0615 ARSI \3 197 A Gy oo
T | A RPN FRORT AR WK Pd 172 BB ERITHT TR SPSRESG
SEOT Sbrvo J& Afodo

79) WPOR' X ST (@102

1)
WA

2)
AT

v 3)
TR

4)
TR

AT = ST X STAILE ¥ AEAT8 W15, ITPR, Fo1g, A, 9P, e, Wk, TRfst, S1-roms,
T, TN ZOIMG WK AT = AP | S XTI FAIUP ¥ AT TP, ATy, ©9fd, I,
maex, ©F3, ©rg, IR, SRk, e, [aaae, ko, [ors, @k, aeer, 9w, 51,
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80) NPT SR CTUIP ?
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IFFI6H BCTToNLTTT
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RICHTR ICAITATLITR
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XRQEH HCLTATI

AN = “IAAG TR G SRS SOATT

QIR TR G O GI Q2 1T FOR AT SHAATH | SR (@ QT fofd (T Py ©IE
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81) RCIR KGR TG AXARGT (ST @0 ?

v 1)
EU

2)
WTO

3)
NATO

4)
FIFA

AT : RO RO TG TRfTGF (S T 3SR SO, TR IMARSHP (S LT
GRGMG | WTO 13 *=-I5KT 2@ 56 | 3 q1fasy 5181 (3@ & World Trade Organization
QTS T TSRS [) o TEenios 131, T Ko 1fTey 5IRFTS Qi 2:-6d 3R 5T 18
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82) PIITHTOR TSR I (P (FT?
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XIJRDA FJRITATKIRT
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SO G
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IS 3T 25

v 4)
IFFTOH HCBINLTT

AT : PIISTATGIT SIS PR (I (CTUP?

83)a-lla=3%7a*+1/@3="7

1)
9

2)
18

3)
27

v 4)
36

II0T -

Given,
a-1la=3

Now,

a3+ 1/a3

= (a-1/a)® + 3.a.1/a.(a-1/a)
= (3)3 + 3.3



=27+9
= 36
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85) (I CIARTIRA (@32
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S
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RATH
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Ikl
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QIBIN
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89) fatbd 1AL JCTA FIPIT?

1)
axz+ bx +c

2)
y? = ax

v 3)
x*+y*=0
4)
y2=2x+7

AT : AT S, @ (p,q) \3 I+ KT 081 SNLRE STHPITXE, (% -p)2+ (y - q) 2
=r2

p=0,q=033r =4 I TIRTG TN TR, x2 + y2 = 161

90) IR TR et (A Kb [S151 31 720 31 2772
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S P11 4 Td K5 W R Ro1st 28101 TRIFER SIGRTTERP Sakd I OGRYRD
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91) AR XK WU-

1)
s

2)
ST

3)
JaCHa

v 4)
(&5

AT : TAP - [2ATS¥TH] CARTRATTR ; Gl 5 (AP ; T& 5 TGI8 ; DL [noun] troops;

army; soldier; war; battle; armed forces.
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133/2% = (55/4)% = (55/4)/100 = 11/80

93) FISRPAN (@19 AP (SISITP aATe?
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JETG
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e

AT+ AR TP ATCE FISRPAT ATS AR QP SIS PATPIOT | ARTRTEA (S
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94) Parliamentary democracy demands discipline and..... to the rules.
v 1)
Adherence

2)
respectful

3)
Knowledge

4)

Awareness

[T : Adherence - Ag51oy,
SRS S1T0T FRIcaR 2 XJeet \3 TIgs1os 71 I |
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96) The people who carry a coffin at a funeral are called ------

1)
Undertakers

2)
Supporters

v 3)
Pallbearers

4)
Mourners

YT 2 JIKT ST ARPCA] &S coffin - 1 924 P OIHK I A Pallbearer.
O i@ undertaker WY FOOR FPIRKL IRFPHI AG5T |

supporters - SRIORI |

Mourne - (I |
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98) 3x3 + 2x2 - 21x - 20 Ao uao Besme 70 .
1)
X+ 2

2)
X-2

AT :
giR f(x) =3x3 + 2x2 - 21x - 20

o OIXA f(-1) = 3%(-1)3 + 2%(-1)2- 21%x(-1) - 20 =-3 + 2 + 21 - 20 =23-23 =
0
o @@ f(-1) = 0, OR 2% AT BT TAMD T = x-(-1)= (x+1)
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